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SN SEHR
M =9l & B =X
CHel: SEIHE At (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 2,264,637 1,800,000 464,637
Od=8 JIZdENHE 2dAY 2,264,637
SRR FAXNA HE(S0E) 549,200 549,200 0
[ 408,000
= 42,400
= 98,800
401 Al HIZL 201 549,200 549,200 0
= 408,000
< 42,400
[Ea 98,800
01 Al&HI 546,000 546,000 0
Ot HAX S HEHA HEA 546,000
s 408,000
s 42,400
s 95,600
03 Al 20HHI 3,200 3,200 0
Ot HAX S HEHAH HEA 3,200
IZMENE ZH(EY) 4,500,000 3,900,000 600,000
= 3,150,000
[ 405,000
T 945,000
403 XM SAH=01H 4,500,000 3,900,000 600,000
s 3,150,000
== 405,000
o 945,000
02 S 2SOt et = & 2 E AL H] 4,500,000 3,900,000 600,000
OS2 (GI2) JIZHENE Z8AM ¥
N ) 1,500,000
= 1,050,000
=S 135,000
s 315,000
Odl"H J|ZME0E ZdAMY & X9Y
SR 1,500,000
s 1,050,000
== 135,000
o 315,000
OYXH J|=da0E 2dMY & X9d
SR 1,500,000
= 1,050,000
< 135,000
[Ea 315,000
ADIXIF HAXS HE(s0HE) 569,100 506,000 63,100
= 418,000
== 45,300
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AN SEEH
M = =& 2 =W
CHel: SEIHE At (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 105,800
403 MR HMSAHE01H 569,100 506,000 63,100
[ 418,000
= 45,300
= 105,800
02 SIS0t =2 2 P E A I 569,100 506,000 63,100
OLDIXI7 FHAXS HEBHH HEAS 569,100
= 418,000
& 45,300
= 105,800
BRI FAXNA HE(S0E) 562,600 471,000 91,600
= 418,000
< 43,400
s 101,200
403 X SHHMSAH=01H 562,600 471,000 91,600
= 418,000
== 43,400
[Ea 101,200
02 SIS0t =2 H A A 562,600 471,000 91,600
OIt=A7 HAX S HEHA HEAY 562,600
= 418,000
=S 43,400
s 101,200
A0 JZMSNHE LMY A2AHFE ) 824,000 600,000 224,000
= 577,000
=S 74,000
s 173,000
403 AXIEHHSAH=201H 824,000 600,000 224,000
[ 577,000
= 74,000
Ea 173,000
02 SII2ASOITH St =2 A P E A I 824,000 600,000 224,000
Od=8 JIZdE8NE LA st 824,000
[ 577,000
= 74,000
= 173,000
ZHEH J|ZMENE LMY A2USHE ) 824,000 600,000 224,000
[ 577,000
= 74,000
= 173,000
403 MR HHMSAH=01H 824,000 600,000 224,000
= 577,000
< 74,000
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AN SEEH
M =9l & B =X
Bel: SENE ALY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 173,000
02 SISOt =2 A 2 E A I 824,000 600,000 224,000
OZ&EY J|ZEENE TEAE S 824,000
[ 577,000
= 74,000
o 173,000
SAX 7 FHAXNSA HE(S0E) 502,000 0 502,000
[ 365,000
= 41,100
= 95,900
403 MR SHHMSAHE01H 502,000 0 502,000
= 365,000
< 41,100
s 95,900
02 SIS0t 2 S A AEHI 502,000 0 502,000
SXXTF FHAXNA HE(S0E) 502,000
= 365,000
< 41,100
[Ea 95,900
X HAXA HE(SHE) 489,900 0 489,900
= 365,000
== 37,500
[Ea 87,400
403 AXIEHHSAH=201H 489,900 0 489,900
= 365,000
=S 37,500
s 87,400
02 ST 2SSt 2 A 2AE A I 489,900 0 489,900
OB XIT HAXSE HE(SHE) 489,900
[ 365,000
= 37,500
[Ea 87,400
2OIXF FHARA HE(s0HE) 207,000 0 207,000
[ 150,000
= 17,100
Ea 39,900
403 MR HHMSAHE01H 207,000 0 207,000
[ 150,000
= 17,100
= 39,900
02 SIS0t 2 S A AEHI 207,000 0 207,000
OZNXF FHAX A HE(SUHE) 207,000
= 150,000




=
XMNZEH: =
(=l I o
=
[=]

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 17,100
s 39,900
FEXT FAXNA HE(S0E) 204,000 0 204,000
= 150,000
< 16,200
= 37,800
403 X SHHMSAH=01H 204,000 0 204,000
= 150,000
== 16,200
o 37,800
02 S 2SS0t et =& 2 € AL | 204,000 0 204,000
OF&XT HAXSE HE(sHE) 204,000
= 150,000
=S 16,200
s 37,800
AEHE JZMENE LAY AZASHFE ) 751,000 0 751,000
= 525,000
= 68,000
o 158,000
403 AXIEHMSAH=201H 751,000 0 751,000
[ 525,000
= 68,000
Ea 168,000
02 SISOt =2 A P E A I 751,000 0 751,000
O JIZHENE A Aol
ERD 751,000
[ 525,000
= 68,000
[Ea 168,000
KA DI Z=MENE LAY ASFUSH(E ) 751,000 0 751,000
[ 525,000
= 68,000
o 158,000
403 MR HHMSAHE01H 751,000 0 751,000
= 525,000
& 68,000
= 158,000
02 SISt 2 S A AEHI 751,000 0 751,000
OXIAH JIZHEAE A el
= 751,000
2 525,000
< 68,000
s 158,000
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SN sEED
M =Y =& 285 &4
ol ANA2 320 xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N2 3U0E &Y 1,797,400 1,040,400 757,000
= 577,000
= 1,220,400
HAsHE A2 A 643,400 723,000 AT9,600
201 fer23| 24,000 46,000 /22,000
01 AtR2t2|HI 11,000 21,000 10,000
OHsHE gFFN Sl 2,000
OFAsHE N2 24 5,000
OMNE Jt= dssd 29 4,000
02 S5=2g4l 13,000 25,000 A12,000
OAsHE NE 29 3,000
OMME II5dessd 28 10,000
202 04| 2,800 4,000 1,200
01 2LHA LI 2,800 4,000 1,200
OFsHE 2483 88 &F 2,800
301 22N = 82,000 100,000 18,000
14 JIEt2 = 82,000 100,000 A18,000
OFis2l A= 80,000
OA=sHE Us=edl Xd 2,000
307 el2to| & 100,000 43,000 57,000
03 2RI HEE2SHIE X 100,000 40,000 60,000
O ez ASHENALH 28 X 100,000
401 Al HIZ S 0HbI 65,000 130,000 65,000
01 AlZ8| 65,000 130,000 65,000
OFIs?HE CAIt &2 Dt 2y XIH 50,000
OMME JI=dssd Aldadl 15,000
402 2IF X201 & 360,000 400,000 240,000
01 QI X2 AL E A (KEHITHR) 360,000 400,000 40,000
OASAIY & Ha|BAIE X3 180,000
O3 M= & 2l N3 180,000
802 grat=JIEt 9,600 9,600
03 DIEIBtE =S 9,600 9,600
OMNE It5dessd 253ty 9,600
SENE S (HsHEELS FAAMH)(A 154,000 122,400 31,600
EA)
= 77,000
o 77,000
307 el2to| & 154,000 122,400 31,600
= 77,000
o 77,000
02 QIS EX 154,000 122,400 31,600
OFsHE 43t XN 154,000
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SN sEED
M =9l =& He =X
el LAz sldilE =4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 77,000
s 77,000
SENY S (SAAFAIE =) 1,000,000 0 1,000,000
= 500,000
Ea 500,000
401 AIEHIX R0 1,000,000 0 1,000,000
=S 500,000
s 500,000
01 AlZ28| 1,000,000 0 1,000,000
OASHE LANFAIE =LA 1,000,000
< 500,000
[Ea 500,000
SEA2 AHIA X2 120,000 0 120,000
= 60,000
= 60,000
SEIY, sEESH FEXE 20,000 0 20,000
= 10,000
[Ea 10,000
307 @120l & 20,000 0 20,000
=S 10,000
s 10,000
02 QIS ER 20,000 0 20,000
Oszgsit SEXE 20,000
< 10,000
Ea 10,000
sZE 0= AlelAHIA 8SKI~ 100,000 0 100,000
= 50,000
o 50,000
307 el2to| & 100,000 0 100,000
= 50,000
o 50,000
02 QIHEHAIEE X 100,000 0 100,000
Os& Z0bte AlRIAHIA 2SKIE 100,000
== 50,000
o 50,000
dH2I3H(sE2E1) 47,828 52,400 N4,572
=3t 47,828 52,400 N4,572
SEEE 1 J1223| 47,828 52,400 N4,572
201 er2 3| 23,468 25,520 A2,052
01 AtR2t2|HI 18,468 20,520 A2,052
OsHu &t 14,364
O=<tl S0t 4,104
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